Signal for (0B)sig = 5pb, mg, =

Bin | Data  Bkg. 1GeV  5GeV  6GeV  7GeV  8GeV

A1) | 124 116L7 97415 19105 <01 01+to1l ~01
(12) | 231 247410 216429 68+11 19405 03402 01401
(13)| 91 9846 38408 49409 24406 09403 02402
(14) | 64 6045 01401 15404 18405 08403 05402
22) | 137 14248 142420 82413 28406 15404 08403
23)| 112 10446 37407 104+16 92414 44408 23406
24)| 61 5945 <01 26406 56+10 81+13 40408
33)| 16 1942 <01 48409 48409 37407 22405
34)| 29 2343 <01 19405 80409 111415 94+14
a4 | 8 741 <0.1 <01 31406 91+14 112417




